= .9[[].0(-180%0&31.0020

0. 0020(14005008) 01

Resolution in x (um) for PV

107!

102k

e

eV
onstant

0.95

20.10.09.060.040.02 0 0.00.040.060.080.1

Resolution in x (um)

- ev .
.| Mear
: 'emes *
| Sy
: onstant
ean
:LSjgma

107k

1072k

%0.70.080.080.040.02 0 0.02.040.060.08 0.1
Resolution in x for merged vertices (um)

0.95

—— DQM_TT__CKF_ORIG
—— DQM_TT__CKF_MODIF

107

1072

E)ID 0680%0&310020 0. OGZO(IZLOGEOO&{)
Resolution in y (um)

01

107

1072

28.60.068 066,063,

............

.....

02 003.008.008.01
Resolutlon in z (um)

Ratio

E I'IES
F onstam ? %
_1_ =
5
F Al 00
107%F ;
10°F
10™F
10°F
| - -
0-9%730.00.080.040.02 0 0.020.040.060.080.1

Resolution in y (um)

1072

107

L.UD!

%99.20.090.

060.040.020 0

I
I
[l

080.1

Resolutlon |n z (um)

s
| SidBey
:| Gonstant

107}

1072

09%)30.080.08.040.02 0 0.02.040.060.08 0.1
Resolution in y for merged vertices (um)

1072

muuuumuumugw

0-9%).30.080.060.040.02 40.080.08 0.1

Resolution in z for merged vertlces (um)




	Contents
	Page 1


